

The Fourier expansion of $\frac{\eta(z)\eta(2z)\eta(3z)}{\eta(6z)}$

Christian Kassel & Christophe Reutenauer

Archiv der Mathematik

Archives Mathématiques Archives of Mathematics

ISSN 0003-889X

Arch. Math.

DOI 10.1007/s00013-017-1033-4



Your article is protected by copyright and all rights are held exclusively by Springer International Publishing. This e-offprint is for personal use only and shall not be self-archived in electronic repositories. If you wish to self-archive your article, please use the accepted manuscript version for posting on your own website. You may further deposit the accepted manuscript version in any repository, provided it is only made publicly available 12 months after official publication or later and provided acknowledgement is given to the original source of publication and a link is inserted to the published article on Springer's website. The link must be accompanied by the following text: "The final publication is available at link.springer.com".



The Fourier expansion of $\eta(z)\eta(2z)\eta(3z)/\eta(6z)$

CHRISTIAN KASSEL AND CHRISTOPHE REUTENAUER

Abstract. We compute the Fourier coefficients of the weight one modular form $\eta(z)\eta(2z)\eta(3z)/\eta(6z)$ in terms of the number of representations of an integer as a sum of two squares. We deduce a relation between this modular form and translates of the modular form $\eta(z)^4/\eta(2z)^2$. In the last section we use our main result to give an elementary proof of an identity by Victor Kac.

Mathematics Subject Classification. 11F11, 11F20, 14C05, 14G15, 14N10.

Keywords. Dedekind eta function, Eta products, Fourier coefficient, Punctual Hilbert scheme.

1. Introduction. In this note we consider the η -product

$$\frac{\eta(z)\eta(2z)\eta(3z)}{\eta(6z)} = \prod_{n \geq 1} \frac{(1 - q^n)^2}{1 - q^n + q^{2n}}. \tag{1.1}$$

where $q = e^{2\pi iz}$. Recall that $\eta(z)$ is Dedekind's eta function

$$\eta(z) = e^{\pi iz/12} \prod_{n \geq 1} (1 - q^n).$$

The η -product $\eta(z)\eta(2z)\eta(3z)/\eta(6z)$ is a modular form of weight 1 and level 6. Since it is invariant under the transformation $z \mapsto z + 1$, it has a Fourier expansion of the form

$$\frac{\eta(z)\eta(2z)\eta(3z)}{\eta(6z)} = \sum_{n \geq 0} a_6(n) q^n, \tag{1.2}$$

where the Fourier coefficients $a_6(n)$ are integers. For general information on η -products, see [8, Sect. 2.1].

Our main result expresses $a_6(n)$ in terms of the number $r(n)$ of representations of n as the sum of two squares, i.e the number of elements $(x, y) \in \mathbb{Z}^2$ such

that $x^2 + y^2 = n$. Observe that $r(n)$ is divisible by 4 for all $n \geq 1$ (for $n = 0$ we have $r(0) = 1$). The sequence $r(n)$ appears as Sequence A004018 in [9].

Theorem 1.1. *For all non-negative integers m we have*

$$\begin{aligned} a_6(3m) &= (-1)^m r(3m), \\ a_6(3m + 1) &= (-1)^{m+1} \frac{r(3m + 1)}{4}, \\ a_6(3m + 2) &= (-1)^{m+1} \frac{r(3m + 2)}{2}. \end{aligned}$$

We next relate $\eta(z)\eta(2z)\eta(3z)/\eta(6z)$ to the weight one modular form $\eta(z)^4/\eta(2z)^2$ and two of its translates.

Theorem 1.2. *Set $\rho = e^{2\pi i/3}$. We have the following linear relation between weight one modular forms:*

$$\frac{\eta(z)\eta(2z)\eta(3z)}{\eta(6z)} = \frac{1}{4} \frac{\eta(z)^4}{\eta(2z)^2} + \frac{1 - \rho}{4} \frac{\eta(z + 1/3)^4}{\eta(2z + 2/3)^2} + \frac{1 - \rho^2}{4} \frac{\eta(z + 2/3)^4}{\eta(2z + 4/3)^2}.$$

Both modular forms $\eta(z)\eta(2z)\eta(3z)/\eta(6z)$ and $\eta(z)^4/\eta(2z)^2$ came up naturally in [6, 7], where we computed the number $C_n(q)$ of ideals of codimension n of the algebra $\mathbb{F}_q[x, y, x^{-1}, y^{-1}]$ of Laurent polynomials in two variables over a finite field \mathbb{F}_q of cardinality q . Equivalently, $C_n(q)$ is the number of \mathbb{F}_q -points of the Hilbert scheme of n points on a two-dimensional torus. We proved that $C_n(q)$ is the value at q of a palindromic one-variable polynomial $C_n(x) \in \mathbb{Z}[x]$ with integer coefficients, which we computed completely (see [7, Th. 1.1]).

We also showed (see [6, Cor. 1.4]) that the generating function of the polynomials $C_n(x)$ can be expressed as the following infinite product:

$$1 + \sum_{n \geq 1} \frac{C_n(x)}{x^n} q^n = \prod_{n \geq 1} \frac{(1 - q^n)^2}{1 - (x + x^{-1})q^n + q^{2n}}. \tag{1.3}$$

It follows from the previous equality that $C_n(1) = 0$. Actually, we proved (see [6, Th. 1.1 and Cor. 1.2] and [7, Th. 1.2]) that there exists a polynomial $P_n(x) \in \mathbb{Z}[x]$ such that $C_n(x) = (x - 1)^2 P_n(x)$. Moreover, $P_n(x)$ is palindromic, has non-negative coefficients, and its value at $x = 1$ is equal to the sum of divisors of n : $P_n(1) = \sum_{d|n} d$.

When $x = e^{2i\pi/k}$ with $k = 2, 3, 4$, or 6 , then $x + x^{-1} = 2 \cos(2\pi/k)$ is an integer. For such an integer k , we define the sequence $a_k(n)$ by

$$\sum_{n \geq 0} a_k(n) q^n = \prod_{n \geq 1} \frac{(1 - q^n)^2}{1 - 2 \cos(2\pi/k) q^n + q^{2n}}. \tag{1.4}$$

Since $2 \cos(2\pi/k)$ is an integer, so is each $a_k(n)$. It follows from (1.3) that these integers are related to the polynomials $C_n(x)$ by

$$C_n(e^{2i\pi/k}) = a_k(n) e^{2ni\pi/k}.$$

In [7] we computed $a_2(n)$, $a_3(n)$, and $a_4(n)$ explicitly in terms of well-known arithmetical functions. In particular, we established the equality

$$a_2(n) = (-1)^n r(n), \tag{1.5}$$

The Fourier expansion of $\eta(z)\eta(2z)\eta(3z)/\eta(6z)$

TABLE 1. *First values of $a_6(n)$*

n	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20
$a_6(n)$	-1	-2	0	1	4	0	0	-2	-4	2	0	0	-2	0	0	1	4	4	0	-4

where $r(n)$ is the number of representations of n as the sum of two squares.

We also observed in [7, (1.4)] that

$$\sum_{n \geq 0} a_2(n) q^n = \frac{\eta(z)^4}{\eta(2z)^2} \quad \text{and} \quad \sum_{n \geq 0} a_6(n) q^n = \frac{\eta(z)\eta(2z)\eta(3z)}{\eta(6z)}. \quad (1.6)$$

The question of finding an explicit expression for $a_6(n)$ had been left open in [5]. This is now solved with Theorem 1.1 of this note and quoted in [7, Th. 1.5]. In view of this theorem, of (1.5), and of (1.6), for all $m \geq 0$ we obtain

$$\begin{cases} a_6(3m) = & a_2(3m), \\ a_6(3m+1) = & \frac{a_2(3m+1)}{2}, \\ a_6(3m+2) = & -\frac{a_2(3m+2)}{2}. \end{cases} \quad (1.7)$$

We had experimentally observed (see [5, Footnote 7]) that $a_6(n) = 0$ whenever $a_2(n) = 0$. As a consequence of (1.7) we can now state that $a_6(n) = 0$ if and only if $a_2(n) = 0$, i.e. if and only if n is not the sum of two squares.

Remark 1.3. (a) The sequence $a_6(n)$ is Sequence A258210 in [9]. The sequence $a_6(3n+1)$ is probably the opposite of Sequence A258277 in *loc. cit.*

(b) It can be seen from Table 1 that $a_6(n)$ is not a multiplicative function. Indeed, $a_6(10) \neq a_6(2)a_6(5)$ or $a_6(18) \neq a_6(2)a_6(9)$ or $a_6(20) \neq a_6(4)a_6(5)$.

Theorems 1.1 and 1.2 will be proved in the next two sections. In Sect. 4 we explain how to obtain an elementary proof of an identity which Victor Kac [4] obtained using his theory of contragredient Lie superalgebras.

2. Proof of Theorem 1.1.

2.1. For any odd integer m we set $\xi(m) = -2 \sin(m\pi/6)$. Because of the well-known properties of the sine function, $\xi(m)$ depends only on the class of m modulo 12 and we have the following equalities for all odd m :

$$\xi(-m) = -\xi(m) \quad \text{and} \quad \xi(m+6) = -\xi(m), \quad (2.1)$$

which is equivalent to $\xi(-m) = -\xi(m)$ and $\xi(6-m) = \xi(m)$.

We have

$$\xi(m) = \begin{cases} -1 & \text{if } m \equiv 1 \text{ or } 5 \pmod{12}, \\ -2 & \text{if } m \equiv 3 \pmod{12}, \\ 1 & \text{if } m \equiv 7 \text{ or } 11 \pmod{12}, \\ 2 & \text{if } m \equiv 9 \pmod{12}. \end{cases} \quad (2.2)$$

Next consider the excess function $E_1(n; 4)$ defined by

$$E_1(n; 4) = \sum_{d|n, d \equiv 1 \pmod{4}} 1 - \sum_{d|n, d \equiv -1 \pmod{4}} 1.$$

It is a multiplicative function, i.e. $E_1(mn; 4) = E_1(m; 4) E_1(n; 4)$ whenever m and n are coprime. It is well known that the excess function can be computed in terms of the prime decomposition of n . Write $n = 2^c p_1^{a_1} p_2^{a_2} \cdots q_1^{b_1} q_2^{b_2} \cdots$, where all p_i, q_i are distinct prime numbers such that $p_i \equiv 1 \pmod{4}$ and $q_i \equiv 3 \pmod{4}$ for all $i \geq 1$. Then $E_1(n; 4) = 0$ if and only if one of the exponents b_i is odd. If all b_i are even, then

$$E_1(n; 4) = (1 + a_1)(1 + a_2) \cdots. \tag{2.3}$$

In the sequel we will need the following result.

Lemma 2.1. *Let n be a positive integer which is not divisible by 3. We have*

$$\sum_{d|n, d \text{ odd}} \xi(d) = -E_1(n; 4) \quad \text{and} \quad \sum_{d|n, d \text{ odd}} \xi(3d) = -2E_1(n; 4).$$

Proof. Let d be an odd divisor of n ; it is not divisible by 3 since n is not. Therefore, $d \equiv 1, 5, 7$, or $11 \pmod{12}$. Observe that $d \equiv 1$ or $5 \pmod{12}$ if and only if $d \equiv 1 \pmod{4}$ since $d \equiv 3 \pmod{12}$ is excluded. Similarly, $d \equiv 7$ or $11 \pmod{12}$ if and only if $d \equiv 3 \pmod{4}$. Now, $\xi(d) = -1$ if $d \equiv 1$ or 5 , and $\xi(d) = 1$ if $d \equiv 7$ or $11 \pmod{12}$. Consequently,

$$\sum_{d|n, d \text{ odd}} \xi(d) = \sum_{d|n, d \equiv 3 \pmod{4}} 1 - \sum_{d|n, d \equiv 1 \pmod{4}} 1 = -E_1(n; 4).$$

Similarly, $\xi(3d) = \xi(3) = -2$ if $d \equiv 1$ or 5 , and $\xi(3d) = \xi(9) = 2$ if $d \equiv 7$ or $11 \pmod{12}$. Therefore,

$$\sum_{d|n, d \text{ odd}} \xi(3d) = \sum_{d|n, d \equiv 3 \pmod{4}} 2 - \sum_{d|n, d \equiv 1 \pmod{4}} -2 = -2E_1(n; 4).$$

□

2.2. We now express $a_6(n)$ in terms of the function ξ introduced above.

Proposition 2.2. *We have*

$$a_6(n) = \sum_{d|n, d \text{ odd}} \xi\left(\frac{2n}{d} - d\right). \tag{2.4}$$

Note that $2n/d - d$ is an odd integer since d is an odd divisor of n .

Proof. Set $u = \pi/k$ and $\omega = d$ in Formula (9.3) of [2, p. 10]. The latter becomes

$$\sum_{n \geq 0} a_k(n) q^n = 1 - 4 \sin(\pi/k) \sum_{n \geq 1} \left(\sum_{d|n, d \text{ odd}} \sin\left(\left(\frac{2n}{d} - d\right) \frac{\pi}{k}\right) \right) q^n. \tag{2.5}$$

The Fourier expansion of $\eta(z)\eta(2z)\eta(3z)/\eta(6z)$

Consider the special case $k = 6$ of (2.5). Since $\sin(\pi/6) = 1/2$, Equality (2.5) becomes

$$\begin{aligned} \sum_{n \geq 0} a_6(n) q^n &= 1 - 2 \sum_{n \geq 1} \left(\sum_{d|n, d \text{ odd}} \sin \left(\left(\frac{2n}{d} - d \right) \frac{\pi}{6} \right) \right) q^n \\ &= 1 + \sum_{n \geq 1} \left(\sum_{d|n, d \text{ odd}} \xi \left(\frac{2n}{d} - d \right) \right) q^n \end{aligned}$$

in view of the definition of ξ . The formula for $a_6(n)$ follows. □

Proof of Theorem 1.1. Let us first mention the following well-known fact (see [1, §51, Th. 65]): the number $r(n)$ of representations of n as a sum of two squares is related to the excess function $E_1(n; 4)$ by

$$r(n) = 4 E_1(n; 4) \tag{2.6}$$

for all $n \geq 0$. It follows from this fact and from (1.5) that

$$a_2(n) = (-1)^n 4 E_1(n; 4). \tag{2.7}$$

We now distinguish three cases according to the residue of n modulo 3.

(a) We start with the case $n \equiv 1 \pmod{3}$. We have $n = 3\ell + 1$ for some non-negative integer ℓ . Since the odd divisors d of n are not divisible by 3, they must satisfy $d \equiv 1, 5, 7, \text{ or } 11 \pmod{12}$. Such divisors are invertible $\pmod{12}$ and we have $d^2 \equiv 1 \pmod{12}$. Consequently,

$$\frac{2n}{d} - d \equiv \frac{2nd^2}{d} - d \equiv 2nd - d \pmod{12}.$$

Hence,

$$\xi \left(\frac{2n}{d} - d \right) = \xi(2nd - d) = \xi(6d\ell + d) = ((-1)^d)^\ell \xi(d) = (-1)^\ell \xi(d)$$

in view of (2.1). Therefore, by Proposition 2.2,

$$a_6(n) = (-1)^\ell \sum_{d|n, d \text{ odd}} \xi(d).$$

Together with Lemma 2.1 and (2.7), this implies

$$a_6(n) = (-1)^{\ell+1} E_1(n; 4) = (-1)^{n+\ell+1} a_2(n)/4.$$

Finally observe that n is odd (resp. even) if ℓ is even (resp. odd). Therefore, $a_6(n) = a_2(n)/4$.

(b) Now consider the case $n \equiv 2 \pmod{3}$. We have $n = 3\ell + 2$ for some non-negative integer ℓ . Again the odd divisors d of n must satisfy $d \equiv 1, 5, 7, \text{ or } 11 \pmod{12}$ since they are not divisible by 3. Consequently, as above,

$$\xi \left(\frac{2n}{d} - d \right) = \xi(2nd - d) = \xi(6d\ell + 3d) = (-1)^\ell \xi(3d).$$

By Lemma 2.1 and (2.7), we obtain

$$\begin{aligned} a_6(n) &= (-1)^\ell \sum_{d|n, d \text{ odd}} \xi(3d) \\ &= (-1)^{\ell+1} 2E_1(n; 4) = (-1)^{n+\ell+1} a_2(n)/2. \end{aligned}$$

Since n and ℓ are of the same parity, we have $a_6(n) = -a_2(n)/2$.

(c) Finally we consider the case when n is divisible by 3. We write $n = 3^N t$, where $N \geq 1$ and t is not divisible by 3. Any odd divisor d of n is of the form $d = 3^r s$ for some odd divisor s of t and $0 \leq r \leq N$. Since t and its divisors s are not divisible by 3 and since s is odd, we again have $s \equiv 1, 5, 7, \text{ or } 11 \pmod{12}$. Recall that for such s we have $s^2 \equiv 1 \pmod{12}$. Thus, for $d = 3^r s$, we obtain

$$\frac{2n}{d} - d \equiv (2 \cdot 3^{N-r} t - 3^r) s \pmod{12}.$$

If $r = 0$, then $2n/d - d \equiv (6 \cdot 3^{N-1} t - 1) s \pmod{12}$. Therefore,

$$\xi\left(\frac{2n}{d} - d\right) = \xi((6 \cdot 3^{N-1} t - 1) s) = (-1)^t \xi(-s) = (-1)^{t-1} \xi(s),$$

in view of (2.1).

If $0 < r < N$, then $2n/d - d \equiv (6 \cdot 3^{N-r-1} t - 3^r) s \pmod{12}$. Therefore,

$$\xi\left(\frac{2n}{d} - d\right) = \xi((6 \cdot 3^{N-r-1} t - 3^r) s) = (-1)^t \xi(-3^r s) = (-1)^{t-1} \xi(3^r s).$$

Now, $3^r \equiv 3 \pmod{12}$ if r is odd, and $3^r \equiv -3$ if $r > 0$ is even. Then by (2.1),

$$\xi\left(\frac{2n}{d} - d\right) = (-1)^{t-r} \xi(3s).$$

Now consider the case $r = N$. If N is odd, then $3^N \equiv 3 \pmod{12}$ and

$$\xi\left(\frac{2n}{d} - d\right) = \xi((2t - 3^N) s) = \xi((2t - 3) s).$$

Now, if t is odd, then $t \equiv 1, 5, 7, \text{ or } 11 \pmod{12}$. We have $2t - 3 \equiv 7$ or $11 \pmod{12}$ and the multiplication by 7 or by 11 exchanges the sets $\{1, 5\}$ and $\{7, 11\}$. Since by (2.2) the function ξ takes opposite values on such sets, we have $\xi((2t - 3) s) = -\xi(s)$. Consequently, $\xi(2n/d - d) = -\xi(s)$ when t is odd.

If t is even, then $t \equiv 2, 4, 8, \text{ or } 10 \pmod{12}$. Then $2t - 3 \equiv 1$ or $5 \pmod{12}$. The multiplication by 1 or by 5 preserves each set $\{1, 5\}$ and $\{7, 11\}$, so that by (2.2) we have $\xi((2t - 3) s) = \xi(s)$. In conclusion,

$$\xi(2n/d - d) = (-1)^t \xi(s)$$

when $r = N$ is odd.

If $r = N$ is even, then $3^N \equiv -3 \pmod{12}$ and

$$\xi(2n/d - d) = \xi((2t - 3^N) s) = \xi((2t + 3) s).$$

Reasoning as in the odd N case shows that when N is even we have

$$\xi(2n/d - d) = (-1)^{t-1} \xi(s).$$

The Fourier expansion of $\eta(z)\eta(2z)\eta(3z)/\eta(6z)$

We can now compute $a_6(n)$. We start with the case of odd N . Collecting the above information, we obtain

$$\begin{aligned} a_6(n) &= \sum_{d|n, d \text{ odd}} \xi\left(\frac{2n}{d} - d\right) = \sum_{s|t, s \text{ odd}} \sum_{r=0}^N \xi\left(\frac{2 \cdot 3^N t}{3^r s} - d\right) \\ &= \sum_{s|t, s \text{ odd}} \left((-1)^{t-1} \xi(s) + \left(\sum_{r=1}^{N-1} (-1)^{t-r} \right) \xi(3s) + (-1)^t \xi(s) \right) \\ &= ((-1)^{t-1} + (-1)^t) \sum_{s|t, s \text{ odd}} \xi(s) = 0. \end{aligned}$$

On the other hand, since the power of 3 in n is odd, then by (2.3) we have $a_2(n) = (-1)^n 4 E_1(n, 4) = 0$. Therefore, $a_6(n) = a_2(n)$ in this case.

If N is even, then

$$\begin{aligned} a_6(n) &= \sum_{d|n, d \text{ odd}} \xi\left(\frac{2n}{d} - d\right) = \sum_{s|t, s \text{ odd}} \sum_{r=0}^N \xi\left(\frac{2 \cdot 3^N t}{3^r s} - d\right) \\ &= \sum_{s|t, s \text{ odd}} \left((-1)^{t-1} \xi(s) + \left(\sum_{r=1}^{N-1} (-1)^{t-r} \right) \xi(3s) + (-1)^{t-1} \xi(s) \right) \\ &= \sum_{s|t, s \text{ odd}} (2(-1)^{t-1} \xi(s) + (-1)^{t-1} \xi(3s)) \\ &= (-1)^{t-1} \left(2 \sum_{s|t, s \text{ odd}} \xi(s) + \sum_{s|t, s \text{ odd}} \xi(3s) \right) \\ &= (-1)^t 4 E_1(t; 4) \end{aligned}$$

by Lemma 2.1. Now, by multiplicativity of the excess function,

$$E_1(n; 4) = E_1(3^N; 4) E_1(t; 4) = E_1(t; 4)$$

since $E_1(3^N; 4) = 1$ for even N . Finally, t and n being of the same parity, we have

$$a_6(n) = (-1)^t 4 E_1(t; 4) = (-1)^n 4 E_1(n; 4) = a_2(n).$$

Q.e.d. □

3. Proof of Theorem 1.2. Set $f(q) = \eta(z)\eta(2z)\eta(3z)/\eta(6z) = \sum_{n \geq 0} a_6(n) q^n$ and $g(q) = \eta(z)^4/\eta(2z)^2 = \sum_{n \geq 0} a_2(n) q^n$; see (1.6). To prove Theorem 1.2 it suffices to check that

$$f(q) = ag(q) + bg(\rho q) + cg(\rho^2 q),$$

where $a = 1/4$, $b = (1 - \rho)/4$, and $c = (1 - \rho^2)/4$. Now,

$$\begin{aligned} ag(q) + bg(\rho q) + cg(\rho^2 q) &= a \sum_{n \geq 0} a_2(n) q^n + b \sum_{n \geq 0} a_2(n) \rho^n q^n \\ &\quad + c \sum_{n \geq 0} a_2(n) \rho^{2n} q^n \\ &= (a + b + c) \sum_{m \geq 0} a_2(3m) q^{3m} \\ &\quad + (a + \rho b + \rho^2 c) \sum_{m \geq 0} a_2(3m + 1) q^{3m+1} \\ &\quad + (a + \rho^2 b + \rho c) \sum_{m \geq 0} a_2(3m + 2) q^{3m+2}. \end{aligned}$$

It follows from (1.7) that

$$\begin{aligned} ag(q) + bg(\rho q) + cg(\rho^2 q) &= (a + b + c) \sum_{m \geq 0} a_6(3m) q^{3m} \\ &\quad + 4(a + \rho b + \rho^2 c) \sum_{m \geq 0} a_6(3m + 1) q^{3m+1} \\ &\quad - 2(a + \rho^2 b + \rho c) \sum_{m \geq 0} a_6(3m + 2) q^{3m+2}. \end{aligned}$$

The right-hand side is equal to $f(q)$ since $a + b + c = 1$, $a + \rho b + \rho^2 c = 1/4$, and $a + \rho^2 b + \rho c = -1/2$. Q.e.d. \square

4. An elementary proof of an identity by Victor Kac. In [4, p. 122] Victor Kac derived four identities for η -products from his theory of contragredient Lie superalgebras. One of these identities, labelled (new₄) in *loc. cit.*, can be rephrased in the following form:

$$\frac{\eta^2(2z)\eta(3z)}{\eta(z)\eta(6z)} = \sum_{n \in \mathbb{Z}} (-1)^n f(n) q^{n^2},$$

where $f(3m) = 1$, $f(3m + 1) = -1$, and $f(3m + 2) = 0$. This immediately implies

$$\frac{\eta^2(2z)\eta(3z)}{\eta(z)\eta(6z)} = \sum_{n \geq 0} b(n) q^{n^2}, \tag{4.1}$$

where $b(0) = 1$, $b(3m) = 2(-1)^m = 2(-1)^{3m}$ for $m > 0$, and $b(n) = (-1)^{n-1}$ if n is not a multiple of 3. See also [8, Th. 8.2].

In a mail dated March 22, 2016 Günter Köhler observed that our η -product (1.1) can be written as the product of Kac's η -product (4.1) and the η -product $\eta(z)^2/\eta(2z)$ (the latter two being modular forms of weight 1/2). Indeed,

$$\frac{\eta(z)\eta(2z)\eta(3z)}{\eta(6z)} = \frac{\eta^2(2z)\eta(3z)}{\eta(z)\eta(6z)} \cdot \frac{\eta(z)^2}{\eta(2z)}. \tag{4.2}$$

The Fourier expansion of $\eta(z)\eta(2z)\eta(3z)/\eta(6z)$

Now Gauss proved (see [2, (7.324)] or [3, 19.9 (i)]) the following:

$$\frac{\eta(z)^2}{\eta(2z)} = \sum_{n \in \mathbb{Z}} (-1)^n q^{n^2} = \sum_{n \geq 0} a(n) q^{n^2}, \quad (4.3)$$

where $a(0) = 1$ and $a(n) = 2(-1)^n$ for all $n > 0$. Therefore, the expansion of the right-hand side of (4.2) is given by

$$\frac{\eta^2(2z)\eta(3z)}{\eta(z)\eta(6z)} \cdot \frac{\eta(z)^2}{\eta(2z)} = \sum_{n \geq 0} a'_6(n) q^n,$$

where

$$a'_6(n) = \sum_{\substack{x, y \geq 0 \\ x^2 + y^2 = n}} a(x)b(y). \quad (4.4)$$

Consequently, an alternative way to prove Theorem 1.1 is to establish the following lemma.

Lemma 4.1. *For all $m \geq 0$,*

$$\begin{aligned} a'_6(3m) &= (-1)^m r(3m), \\ a'_6(3m + 1) &= (-1)^{m+1} \frac{r(3m + 1)}{4}, \\ a'_6(3m + 2) &= (-1)^{m+1} \frac{r(3m + 2)}{2}. \end{aligned}$$

Conversely, since the right-hand side of (4.3) is an invertible formal power series, the lemma combined with Gauss's identity (4.3) and with our elementary proof of Theorem 1.1 yields an elementary proof of Kac's identity (4.1).

Proof of Lemma 4.1 (Provided by G. Köhler). (a) Suppose first $n = 3m + 1$ for some integer $m \geq 0$. We consider solutions $x \geq 0, y \geq 0$ of $x^2 + y^2 = n$. Since $n \equiv 1 \pmod{3}$, exactly one of the integers x, y is a multiple of 3. Therefore the solutions can be coupled in pairs $((x, y), (y, x))$, where 3 divides x , but not y (hence $y > 0$). If $x > 0$, then the contribution of such a pair to $a'_6(n)$ is

$$\begin{aligned} &2(-1)^x \cdot (-1)^{y-1} + 2(-1)^y \cdot 2(-1)^x \\ &= 2(-1)^{x+y} = 2(-1)^{x^2+y^2} = 2(-1)^n = 2(-1)^{m+1} \end{aligned}$$

and it is 8 for $r(n)$, since one has to consider all pairs $(\pm x, \pm y)$ and $(\pm y, \pm x)$, which are distinct. If $x = 0$ (which occurs only if n is a square), then the contribution is

$$(-1)^{y-1} + 2(-1)^y = (-1)^y = (-1)^{y^2} = (-1)^n = (-1)^{m+1}$$

for $a'_6(n)$ and it is 4 for $r(n)$ (corresponding to the pairs $(0, \pm y), (\pm y, 0)$, which are distinct). Summing up and comparing the contributions, we obtain $a'_6(n) = (-1)^{m+1}r(n)/4$, which is the desired formula.

(b) Now let $n = 3m + 2$ for some integer $m \geq 0$. We again consider solutions $x \geq 0, y \geq 0$ of $x^2 + y^2 = n$. Since $n \equiv 2 \pmod{3}$, none of x, y is divisible by 3, and in particular $x > 0$ and $y > 0$. The contribution of (x, y) is

$$2(-1)^x \cdot (-1)^{y-1} = 2(-1)^{x+y-1} = 2(-1)^{x^2+y^2-1} = 2(-1)^{n-1} = 2(-1)^{m+1}$$

for $a'_6(n)$ and it is 4 for $r(n)$. Summing up and comparing the contributions, we obtain $a'_6(n) = (-1)^{m+1}r(n)/2$.

(c) Finally let $n = 3m$. For $n = 0$, the result is clear, so we may assume that $n > 0$. Write $n = 3^N t$, where $N \geq 1$ and t is not divisible by 3. If N is odd, then by the remark preceding (2.3) and by (2.6) we have $r(n) = 4E(n; 4) = 0$. Hence the sum (4.4) defining $a'_6(n)$ is empty, which implies $a'_6(n) = 0 = (-1)^m r(3m)$.

So let $N = 2s > 0$ be even. It is easy to check that the solutions of $x^2 + y^2 = n = 3^{2s}t$ are of the form $x = 3^s u$ and $y = 3^s v$, where $u^2 + v^2 = t$. If t is not a square, then there is no solution where $u = 0$ or $v = 0$, and we obtain

$$\begin{aligned} a'_6(n) &= \sum_{\substack{u, v \geq 0 \\ u^2 + v^2 = t}} 2(-1)^{3^s u} \cdot 2(-1)^{3^s v} = 4 \sum_{\substack{u, v \geq 0 \\ u^2 + v^2 = t}} (-1)^u (-1)^v \\ &= 4 \sum_{\substack{u, v \geq 0 \\ u^2 + v^2 = t}} (-1)^{u+v} = 4 \sum_{\substack{u, v \geq 0 \\ u^2 + v^2 = t}} (-1)^{u^2 + v^2} \\ &= 4(-1)^t \sum_{\substack{u, v \geq 0 \\ u^2 + v^2 = t}} 1 \\ &= (-1)^t r(t) = (-1)^m r(n). \end{aligned}$$

If $t = w^2$ is a square, then we have the additional solutions $(u, v) = (w, 0)$ and $(u, v) = (0, w)$, hence $(x, y) = (3^s w, 0)$ and $(x, y) = (0, 3^s w)$. This yields an additional contribution of $2(-1)^{3^s w} + 2(-1)^{3^s w} = 4(-1)^{(3^s w)^2} = 4(-1)^n$ for $a'_6(n)$, and for $r(n)$ it is 4; thus we have proved $a'_6(n) = (-1)^n r(n) = (-1)^m r(3m)$. □

Acknowledgements. We are very grateful to Günter Köhler for having suggested the alternative proof of Theorem 1.1 presented in Section 4, provided the proof of Lemma 4.1 and allowed us to include it in this note. We also thank Robin Chapman, John McKay, Jean-François Mestre, and Jean-Pierre Wintenberger for their remarks.

References

- [1] L. E. DICKSON, Introduction to the theory of numbers, The University of Chicago Press, Chicago, Illinois, Sixth impression, 1946.
- [2] N. J. FINE, Basic hypergeometric series and applications, Mathematical Surveys and Monographs, 27, Amer. Math. Soc., Providence, RI, 1988.
- [3] G. H. HARDY AND E. M. WRIGHT, An introduction to the theory of numbers, 3rd ed., Clarendon Press, Oxford, 1954.
- [4] V. G. KAC, Infinite-dimensional algebras, Dedekind's η -function, classical Möbius function and the very strange formula, Adv. Math. **30** (1978), 85–136.
- [5] C. KASSEL AND C. REUTENAUER, On the zeta function of a punctual Hilbert scheme of the two-dimensional torus, [arXiv:1505.07229v3](https://arxiv.org/abs/1505.07229v3).
- [6] C. KASSEL AND C. REUTENAUER, Counting the ideals of given codimension of the algebra of Laurent polynomials in two variables, [arXiv:1505.07229v4](https://arxiv.org/abs/1505.07229v4).

The Fourier expansion of $\eta(z)\eta(2z)\eta(3z)/\eta(6z)$

- [7] C. KASSEL AND C. REUTENAUER, Complete determination of the zeta function of the Hilbert scheme of n points on a two-dimensional torus, [arXiv:1610.07793](https://arxiv.org/abs/1610.07793).
- [8] G. KÖHLER, Eta products and theta series identities, Springer Monographs in Mathematics, Springer, Heidelberg, 2011.
- [9] The On-Line Encyclopedia of Integer Sequences, published electronically at <http://oeis.org>.

CHRISTIAN KASSEL
Institut de Recherche Mathématique Avancée,
CNRS & Université de Strasbourg,
7 rue René Descartes,
67084 Strasbourg,
France
e-mail: kassel@math.unistra.fr
URL: <http://www.irma.u-strasbg.fr/~kassel/>

CHRISTOPHE REUTENAUER
Mathématiques,
Université du Québec à Montréal,
succ. Centre Ville, CP 8888,
Montréal QC H3C 3P8,
Canada
e-mail: reutenauer.christophe@uqam.ca
URL: <http://www.lacim.uqam.ca/~christo/>

Received: 29 August 2016